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Section A © [ 20 x 2 MARKS )
For each question from 1 to 20, 4 options are given, One of them is the corroct
answer. Make your choice (1, 2, 3 or 4). Shade the correct answer (1, 2, 3 ar 4)

in the Optical Answer Sheet (OAS) provided.

1

Sharifah wants to leave a note for her mothar. Wil a piece of magnet, she can
stick the nole anto the

e S S

A whiteboand

B! wooden door

C alummniuwm grille

D: door of the refnigerator

{1}  Donly

(2)  Aand D anly

(3) 3 and C only

{(4) A, CandDonly -

A compass is placed near one end of a bar magnet.
Which one of the diagrams below shows the correct posilion of the compass
neadla?

(M (2} -

] ]

(3 (4)




3. Study the classification chart below.

' Objecis

Non mietals

Non-magnetic
material

4. When a seed starts to germinate, which of the foltowing will grow first?

(1) root
(2) stem
(3) shoot

(4) leaves



5.

W

Three magnels are joined logether as shown in the picture below

S

Which of the following pictures show the correct arrangement of their poles?

(éS'\/ (N S-

(1) Aand C
(2) A and D
3) BandC
(4) Band D

.Cm S N T

o s




A bar magnet and a piece of ma

separated by a thin plastic.

gnelic malerial are suspended by strings and

Which one of the following diagrams would Correctly represent the result?

(1)

AN\
|
Magnet Magnetic
material
I
Thin plastic
(3
‘Magnet Magnetic
material .

Thin pilastic

(2)
1
Magnet Magnetic
malerial
) i
Thin plaslic

{4)

Magnet- Magnetic
material
Thin plastic

Look at the picture of the bar magnet below.

A

8 C

S

N

Which parts of the magnet will attract the most paper clips?

(1) AandD
@) AandB
3) Band C
{4) CandD



Study the diagrams below.

I

Object X Object Y

When object X is placed near point C of object Y. object Y maves towards it

I— e

Object X Object Y

When object X is placed near point D of object Y, object Y also moves towards
it

Which of the following statements are true about object X and object Y?

(é‘c)\’- Object X could be a magnet.
i *— Object Y is made of iron or steet.
(@ Both object X and object Y are magnels. -

{1) A only

(2} A and B only
3) B and C only
{4) A, BandC

Peter wants to grow a green bean plant from its seed. What conditions are
needed for the seed to germinate?

Az air

B: water
C: sunlight
D: warmth

&)} A and B only
(2) CandD only
3) A.BandD only
4) A/ B CandD




0. Magnet 3 is hung from a spring as shown in Diagram A Magnel T is then
placed an the ground, directly below Magnel S as shown in Diagram B

LAY, S Pl S A

= 11T R SPCNY
L=

- Magne! S

Magnet 5
Magnet T “_-|
grauid grond
Chagram A Dragram B

Why does the spring strelch less4n the arrangemenl shown in Disgram B7

(n The spring becomes weaker.

(2}  The weight of Magnel S is smaller.
(3) Magnel 5 pulls Magne! T upwards,
{1} Magnel T pushes Magnet S upwards



1. Philip wanted to remove the thumbtack in each of the container as shown in
the diagram below. All the containers contained an equal amount of oil. He
used a magnet and moved it along the outer wall of the container to bring the
thumbtack up to the rim of the container.

Which one of the sef-ups below would he find difficulty in removing the

thumbtack?

(1)

Oil ~~—f—

Thumbtack -
NG —

Magnet ~____ i\/@“ N

Iron conlainer

(3) -

il ~———p—

Thumbtack E—

Magnet - _ iw —

Glass container

@)

Ol - M S _—

Thumbtack R

\ — ™

Magnet ~ Iw -

Plastic container

(4)
Ol - —
Thumbiack - —_“
Magnet -~ \.\Iﬁﬁi___ i

Styrofoam container

12. Which of the following animals does not have a pupa stage in its life cycle?

(1) Ant
) Mosquito
3) Grasshopper

(4)  Mealworm beetle




Poagals

13. An iron nail becomes a magnel when it is placed in a coil of wire joined o
batlenes.

Raju wanls o find oul whether the aumber of lurns of the coil alfects the sirength
of a magnel. He uses two ol the following sel-ups lo lest the strength of the
magnel by counting the number of steol paper dips each can pick up

Which bwo sel-ups below should he e 1o conduct a (air lest?

A

—————————

Wire

Ly T

e ——

1 Tz

] 10 s

200 burns

(1) AandB
) AamdC
{(3) BandD
(4) ‘CandD



4. A magnet is dropped seviral imes onto the floor, ils magnetic pull is tested by
using salely pins. The fabie below shows the resulls. However, there was a
mislake: in the information prowded in 1he labie,

Winch one of the following is inconrect?
| Number of imes the magnel | Mumber of safety pins ali@cted |
o] 15 dropped onlo the floor by the magnet |
(1 0 3 7
(2) 3 i 5
{3) i 6 =
b e —— e ——
{4} i1 2
e T e e e S e e e B e i e e e, .}

=1

15, Which diagram shows correctly the development of a plant?

i fruil ' fg} plant
A\
seed seerd
plant Frunt
(3) ()
sead Mlower
plant seedling
secdling fruit
-g-




16.  Study the two groups of objects given below.

Which of the followin

Group X _(;;Jp—rj

swple | poren |

Needle N _ﬁ—élass slide
 Thumbtack | Ruseer b

Group Y?
F Group X
A Things made of metals.
—_—

Things that sink in water.

Things made of magnetic

- malerials.

Group Y

g sels of headings are suitable for Group X and

Things made of non-metals.

Things that float on water.

() AandB only
(2) AandC only
(3) B and C only
(4) A BandC

-10-

materials.

Things made of non-magnetic |

-




17.

Faridah did a study on two amimals, X and Y.
atick {( / ) in the box when she made the obs

Althe end of her sludy, the completed checklist 1s as foliows:

Observation

She drew a checklist and placed
ervation.

ft has six fegs.

Animal X

Eggs are laid in water, = -

There are 3 stages in the ife cycie.

—— e

Animal Y
e
" -

Ve

Which of the following would be correct?

Animal Y

_ Animal X _
() frog cockroach
_{2) butterfly frog
(3) mosquito butterfly
{ (4) mosquito cockroach -

18.  Siudy the flowchart below.

Matenals

Is it a metal?

Is it magnetic?

Which of the following represents X, Y and 7 respectively?

, X Y Vd
(1) Copper Aluminium Silver
(2) Cotilon Nickel Steel
(3) Paper Steel Nickel
(4 Rubber Copper iron

-11-




19.  The diagram below shows the life cycle of 2 mosquito.

Al which stage of its life cycle is the mosquito harmful to Man?

(1) A
2) B
3@ C

4 D

-12-



20.  Study the flowchart below.

l Organisms ’

T

Does it have a 4-

Does the yo‘ung
resembile the

parent?

stage life cycle?

Which one of the foitowing represents P. Q and R Correctly?

- P Q R
—("F%—‘ Ant R Toad Butterfly
_(2_)— Maoth __H_—h_‘w—%li)gmﬁ_%_ " Grasshopper N
_(é)_—_— Buiterfly Chicken Frog
@ o Grasshopper Frog Housefly

- End of Section A -

-13 -
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Section B : {30 marks}

Answer all questions.

21, The diagram below shows three ring magnels, A, B and C. They ‘floated’ on
top of one another.

ring rAgnets

(a) Give a reason why all the magnets did not touch orje another. (2 marks)

(b) The three ring magnets would touch one another if you flip one of them.
Which magnet would you flip? (1 mark) _

22. Samantha set up the circuit as shown in the diagram below.

lron nail

|— battery

wire

(3}  What type of magnet will the nail become? {1 mark)

(b)  Suggest two ways Samantha could do o increase the magnktic force of
the nail. (2 marks)

0!
(1)

14 -




wh%

23 Rahimah uses four similar magnels A, B. © and D 1o find ot which one can
allract mare ilon pins in the set-up below.

A plasbic iy of iron pins is placed betow the magnets and different numbais of
pins are aliracted 10 the magnels.

) Ll FF

md-":'il

Flashc tray =

Pl

{a)  Which is the strongest magnet? = (1 mark)

e — m——

()  Based on the sel-up, why is it unfair o compare ihe strengths of magnel
B and magnet C7? (1 mark)

(c)  Later on, Rahimah removes The pinsilrom the magnets. Then she
places a piece of steel sheet between the magnets and the pins.

What do you think will happen? Explain your answer. (2 mark)




24.  The diagram below shows two U-shaped magnets.

\'\/’} k/j

. {(a) Draw a diagram in the box below

to show how the two U-shaped
magnels should be arranged so th

i at they can slick 1o each other.
Indicate on the diagram the poles of each magnet.

(2 marks)
- _
L_ |
(b)  What property of a magnet is shown in (a) above? (1 mark)

~-16- -




Ll

25 Pnya has three bar magnets. She labeiked the ends of the bars as shown in
th: dhagrams below

e )

Shie brought the ends of the magnels close 1o each olhes o find oul Bow they
interact, The tesuits we shown in the lable below

- [ Ends that are I:rt;ught close to EALEEEET L -__Dbﬁé_eru_aﬁns .
R R Y

T _.;InandE S —”_“”;upel
 emws> ¥ A Repet
B CBade T N

What would happen when the ends of the magnels in the table below are
brought close to each olher? Wrile your obsenvations in the table below.

(3 marks)
Ends that are brought close to ;c-il-!, other Observations
CandE - (i)
D and F : | (i)
B and C (i) )

=1F =



26. The North pole of a bar magnet has been wrapped by a thin piece of
aluminium. it was lowered inio a box of pins. When the North pole of the
magnet was taken out from the box. it was found to attract a few pins as
shown in the diagram below.

j/
2PN
[ sk
_ S —— " magnet
—» thin piece of
N N // afuminiur_n

7P |
}iv/fﬁ . K
pins

What can you conclude from this experiment? o (2 marks)

. i8-




27. Jason used fwo similar screwdrivers and stroked them with g magnet as
shown in the diagram.

Screwdtiver X -Screwdriver Y
- (20 strokes) (50 strokes)

(@)  When screwdriver X is magnetized, Point A and Point B will become the
poles of the temporary magnet. '
Write ‘N for the N-pole and ‘S’ for the S-pole in the boxes provided.
. (1 mark)
{b)  What was the difference between screwdriver X and screwdriver Y affer
they had been-stroked by a magnet as shown in the diagram above?
Explain your answer. (2 marks)

{c} Jason held screwdriver X next to screwdriver Y as shown bélow.

=T =

.. Screwdriver X Screwdriver Y

He observed that screwdriver X repelled screwdriver Y. Why is this so?"
(1 mark)

-19-




28.

The diagram below shows a green bean at various slages of germination.

A

.{-_\Pi‘:t- ‘_-‘*.}_T.;
N
1

KNG B C D
I

(a)

Atstage C, where does the seedling get its food from? - (1 mark)

.

(b) At which stage does ,
Explain your answer. (2 marks)




29. The graph below shows the number of days each stage in the life cycle of an
insect lasts.

Days

12J
-

10 1

¥ T T r — Stage
Egg Nymph Aduit Adult
male fernale

@) How many stages are there in the life cycle of this insect? (1 mark)

—(b) How many days would the insect take to become an adult after the egg
is laid? (1 i’nark)

-21-



30.  Study the table below.

Young lives in water.

Characteristics

Reproduce by laying eggs.
Warrn—biooded_

(a)

Eggs with hard outer covering.

Based on the characteristics
in which animaj A and animal

Animal

e e ]

T -
Animal A Animal
Yes Yes
No Yes
Yes No
o Mo yes

given above, name the groups of animals
B can be classified under. {1 mark)

Group

A 0 -

B (i)

(b)

Hafizah concluded that Animal B is a crocodile. Do Qou agree with her?

Give a reason for your answer,

(2 marks)

— End of Paper —-
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21)4)The poies-fé?:ing each other is alike t > they:repel.
b) ing mag\et B will flip. R

22)b):)Turn its more time. T
' n)Increase the number of battery

23)a)D is the strongest magnet
b)Bécause the. length is different. ,
C)The magnet will not attract the pms Magnetlc force cannot

pass through.

J4)a)

b)Unlike poles ai_tract.-

Page 1to 2 page 1



25))attract  ii)attract tii)repel

26)The magnetic force can pass through the thin piece of
aluminium.

27)a)N, S _
b)The magnetic in screwdriver Y will be stronger than

screwdriver X because more stroke were given to screwdriver Y.
C)The two end of the screwdriver have the same pole.

28)a)It gets its food from the sea d leaf.
b)Stage A. The leaves need sunlight to make food survive.

29)a)There a;'e 3 stage life cycle.
b)18 days.

30)a)A: Amphibian B: Bird i
b}No. crocodileis cold blooded.

Page 2




